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T01-FM109 TIME EVOLUTION [Reference=CERN060726] summary (all channels)
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[TO1-FM109 Test 0]

[CERN060726] 060727071325_FM109_calu_pedestals_ci.csv [ 24.0C]

[CERN060905] 060905203231_FM109_calu_pedestals_ci.csv [ 23.6C]




TO1-FM109 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5, LEX8]
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T01-FM109 TIME EVOLUTION [Reference=CERNO060726] for Pedestal Position [Gain index 5, LEX1]
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TO1-FM109 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5, HEX8]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5, HEX1]

»20 » 20
-‘:15§Y+ COLO =15
€10 € 10
S5 35
8 % - - o————eo o 8 g
<10E <ag

15F 15

'
)

Time phase

ADC units

ADC units

Time phase

ADC units

L o
L4 aan A A aan
coto omo o ohiouono

ADC units

Time phase ’ Time phase

020 20 20
1 X+ COL 4 'E}SEY"' COL4 18
=1 5 3 5E =1 5
Q eose— o o=-o (SN e o= o Q
asl - ale al
<9 <1of <9

-15 -15 -15

2 2

-2
R ST D IO DD IAD O DRI T[T AL
ime phase

D9-8:0.100.0.2.9.40.9.6.D.

o711 M3 341!
imé phase

-2
-8.-0.-0.-0.33.1-m.1J.IJ.D.0.5).O.'D. I9"_‘}1 .34

050D DF00.0.D.DDD.6.DEITIT

3415
imé priase

ADC units
L, aan
onououo

[ o o

ADC units
L, -
oo vUono

11.1.2.3.41.

ADC units

-10
-15

2o
S

ADC units
ao low

| E ] 5
Time phase Time phase Time phase Time phase
20 ®20 20 20
E}S X+ COL 10 -‘a‘}SEU COL 10 -‘é]g X-COL 10 E}SE!-COL1O
= =] = =]
5 5F 5 5F
Q0 e000————oo=0 QoE eose— oeo=o Q0 eose—  oeo=9o Q0 - o———s—o
[= Q s5E Q5 (=3
<10 <10F <10 <10
-15 -15F 15 -15
-2 20 | 208 |
R ST D 0 0P IADO DRI T 1AIA. REEEER AR EE LY CERE EEGE -Smnm.m.tm.n.m.:n.o.s).o.n.al.s LS REEEER AR EELLRE VR KRR
» ime phase” imé phiase” - ime phase” ime phase
[} [} [} (2]
‘é}?, X+ COL 11 -‘é‘}gEY+ COL 11 -‘é}g X- COL 11 -‘é}gEY- COL 11
35 S5E 35 S5E
O 0 eose—  oe=e OoF oo Q0 s ooe—  oo=o Qo e oce— eoo=o
[= Q 5E Q.5 Q.5
<10 <10f <10 <10
-15 15E -15 15
2 2

-2-8.-8:0.1‘0.@.1-(!).1).”.3.0.9.0.1).*

1.
iqmep

A

a4,
Se

.-:0:0.-3.1-[!).0.2.3.4).9.0.0.*'9';11 Kl ?13 Al

& phiase

-28.-0.-0:0.20.1-(!).0.2.0.0.&.0.0.*%16.%335.%

.5

6p



T01-FM109 TIME EVOLUTION [Reference=CERNO060726] statistics for Pedestal Position [Gain index 5]
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[CERN060726] 060727071325_FM109_calu_pedestals_ci.csv [ 24.0C]
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[TO1-FM109 Test 0]

[CERN060905] 060905203231_FM109_calu_pedestals_ci.csv [ 23.6C]
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[TO1-FM109 Test 1]

[CERN060726] 060727073044_FM109_calf_mu_trend.csv [ 24.7C]

[CERN060905] 060905205100_FM109_calf_mu_trend.csv [ 24.6C]




TO01-FM109 TIME EVOLUTION [Reference=CERN060726] for LE+/LE- [Gain index 5]

=AY COL 0
k3
0 ) P :.é;‘.

5 5E
-10 -10E
-15 -15E
-2 L1 S —
-8.-8.-0.-@.2].1-(13.13.3.3.0.5.0.1). 9 11.1.2.3.4. %.-D.-O.—O.-ﬂ.1-m.1].ﬂ.!i.4).9.0.'ﬂ. 911.1.2.3.41.5
2 Ime phase 20 Ime phase
o

911.11.3.3.41.
Time phase

g d -5
20 Time phase 0 Time phase
o~ 15
18 X COL 10 5
5 5E
0 [ %C 0F [ :‘<.
-5 5E
-10 -10E
-15 -15
2—8.—5.4).@.20.tm.n.n.o.o.s.o.n. 9 11.1.2.3.4. 2—%.-:0:@.-0.1-[!).‘0.3.0.4).5).0.'0.*911.1I. 3.41.5
20 Ime phase 20 Ime phase
o
s~ 158X COL 11 s158Y COL 11
10 10
5 5E
0 ~— _—_ o 0E 0= é‘
2 ‘\. 5E
-10 -10E
-15 -15E
E %
-0-5-4-:0.20.100.0.2.9.4.9.6.0.8.9 11.1|.ﬁ. A. -0

ime phase




TO01-FM109 TIME EVOLUTION [Reference=CERN060726] statistics for LE+/LE- [Gain index 5]
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TO1-FM109 TIME EVOLUTION [Reference=CERN060726] statistics for LE+/HE+ [Gain index 5]
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TO01-FM109 TIME EVOLUTION [Reference=CERN060726] statistics for LE-/HE- [Gain index 5]
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[TO1-FM109 Test 1]

[CERN060726] 060727073044 _FM109_calf_mu_trend.csv [ 24.7C]
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[TO1-FM109 Test 1]

[CERN060905] 060905205100_FM109_calf_mu_trend.csv [ 24.6C]
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[TO1-FM109 Test 2]

[CERN060726] 060727073108_FM109_calf_shp_p01.csv [ 24.7C]

[CERNO060905] 060905205124 FM109_calf_shp_p01.csv [ 24.6C]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] for TACK Delay [Gain index 5, LEX1]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] for TACK Delay [Gain index 5, HEX8]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] for TACK Delay [Gain index 5, HEX1]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] statistics for TACK Delay [Gain index 5]
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[TO1-FM109 Test 2]
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TO1-FM109 CERN060726 TACK Delay [Gain index 5]

DAC

DAC

DAC

DAC

110

100 —

95 —

90 |—

85—

[ 5 T St S A S =t P

eLExg| 20
oLEX1
HEX8

30

20

10

8 ||||5i||||i||||I||||I||||I||||I||||I||||I||||i|. % PR 1 I T R

=LEX8

=LEX1
HEX8

~HEX1

110

10

15

20

25 30 35 40 45
Channel

el
100

el
105

Ti0
DAC

105

100

95—

90—

85 |—

""" e B

...................................................................................

oExs| 20
oLEX1

HEX8

30

20

10

=L EX8
~LEX1

HEX8
=HEX1

_||||||||||||||||||||||||||||||||||||||||||||||| e
800 5 45 %

110

10 15 20 25 30 35 40 g5 90 95 100 105

110 Channel DAC

— TeLExs| 90 - —LEX8

X- . . . . . . : |eLEX1 C _LEX1

: : : : : : : HEX8 = HEX8

[ ST T St R s s St .11 Py L2
100 e b b -
30
L T SN ASELITE ETITITE ST FETRE SO S C
- 20
O f— oo eree e b C
85F i i GoEoioEE 101

80:||||||||||||||||||||||||||||||||||||||||||||||| N | N T BT BT R

RS [/ R I [) M-S ) I - S (| S 50 o5 T00 105

Channel DAC

110 — JeLEX8] 90 . EX8

Y' oLEX1 C _LEX1

- P P P P oo P HEX8 - HEX8

ol T e ==
100 bbb b -
C 30—
L 0 ARRCTTRLY SEPTIPRL: TUPRP TOPPURPE TEPRUR FOPPCER CORPROR SPLS C
- 20
90__......-.........-........-.........-........:........-........:........-........ ..... :
85:— ................................................................................... 101

805||||||||| ) | T PP E

0

10

15

20

25 30 35 40 45
Channel

(=

85 90

95

100

105

110
DAC



[TO1-FM109 Test 2]
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[TO1-FM109 Test 3]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] for LOWEST Relative Gain [Gain index 5, LEX8]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] for LOWEST Relative Gain [Gain index 5, LEX1]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] for LOWEST Relative Gain [Gain index 5, HEX8]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] statistics for LOWEST Relative Gain [Gain index 5]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] for HIGHEST Relative Gain [Gain index 5, LEX8]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] for HIGHEST Relative Gain [Gain index 5, LEX1]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] for HIGHEST Relative Gain [Gain index 5, HEXS8]
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o T01-FM109 TIME EVOLUTION [Reference=CERN060726] for HIGHEST Relative Gain [Gain index 5, HEX1]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] statistics for HIGHEST Relative Gain [Gain index 5]

o

o 1.5

o EX8
oLEX1

: : : : : : . HEX8
L St S S A 1114

0 bbb

I P P P U P P T T I
1.5 5 3015

50

40

30

20

10

—LEX8

—LEX1
HEX8

_HEX1

10 15 20 25 30 35

1 1.2 1.4
% [0.5(MAX-MIN) and RMS]

15 . . . . . . Channel

oL EX8
oLEX1

: : : : : : : : HEX8
L R Rt e Feeeee peeee e R S =+~ |oHEX1

50

40

30

20

10

—LEX8
_LEX1

HEX8
—HEX1

- ||||i||||i||||i||||i||||i||||i||||i||||i||||i||
13 5 45

10 15 20 25 30 35 40
Channel

0.6

"% [0.5(MAX-MIN) and RMS]

1.4

: : : o EX8

X- : : : oLEX1

: : : : : : : HEX8

L e frovseneees R -+ |oHEX1
05 bbb SR PSSO OO
0 Swenye A~ prepm et

|||||||||||||||||||||||||||||||||||||||||||||||
-1.5 5

50

40

30

20

10

—LEX8

—LEX1
HEX8

_HEX1

10 15 20 25 30 35 40 45

15 . . . . Channel

0.6

1.2 1.4
% [0.5(MAX-MIN) and RMS]

oLEX8
oLEX1

, E : E ; . : . HEX8
LI SuRRRRRTEEEEEEEE SREEEEEE Freeeeses SRR foeeeeeed R s [HEXA

50

40

30

20

10

—LEX8
_LEX1

HEX8
—HEX1

Channel

0.6

1.4

"% [0.5(MAX-MIN) and RMS]




[TO1-FM109 Test 3]

[CERN060726] 060727071820 FM109 calf gain_p01.csv [ 24.6C]




TO01-FM109 CERN060726 LOWEST Relative Gain [Gain index 5]
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